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1.1. Find all natural numbers that are 5 times bigger than their units digit.

1.2. Find all two-digit numbers that are 7 times bigger than their units digit.

1.3. Find the two-digit number which is 5 times bigger than the sum of its digits.

1.4. Find the two-digit number that is 3 times bigger than the sum of its digits.

1.5. I bought a lottery ticket and the sum of its five digits turned out to be the age of my neighbor. Find the 
number of the lottery ticket if it is known that my neighbor easily solved this problem.

1.6. How many natural numbers n are there such that for the two numbers n and n+937 only one will be a 
three-digit number?

I. Complete all the problems that you did not finish in class.

Decimal system
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1.7. Give an example of a four digit number whose first digit shows how many zeros the number has, the 
second - how many ones, the third - how many twos, and the fourth - how many threes (in the decimal 
system).

1.8 Cross out five digits out of the number 5041638 so that you end up with the largest possible number. 

1.9. a) Make up the largest five-digit number whose decimal notation consists of distinct odd digits.
       b) Make up the smallest five-digit number whose decimal notation consists of distinct even digits.

1.10. In the family, the older child has 4 brothers and 2 sisters, and the younger one has 3 brothers and 3 
sisters. Is the older child a boy or a girl?

1.11. Nick the rabbit and Kate the squirrel are in the same class of the Rabbits And Squirrels School. There are 
twice as many rabbits in this class as squirrels. Nick the rabbit has 7 more rabbit classmates than squirrel 
classmates. How many squirrel classmates does Kate the squirrel have? 

Comparison of numbers
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1.12. Winnie the Pooh has 25 full large barrels of honey. It is known that with this amount of honey he can fill 
exactly 45 small barrels. Will he be able to pour his honey into 20 large and 9 small barrels?

1.13 There are as many barefoot boys running around the field as there are girls wearing shoes. Are there 
more girls or more barefoot children on the field?

1.14 If every poodle puppy gets one treat and every boxer puppy gets two treats, there will be enough treats 
for everyone. If every boxer puppy gets one treat, and every poodle puppy gets two treats, there won’t be 
enough treats for everyone. If the poodles get no treats at all, will there be enough treats to give each boxer 
puppy three treats?

1.15 Five first graders stood in a line and held 37 flags. Everyone to the right of Tal together has 14 flags, to 
the right of Jake - 32 flags, to the right of Vera - 20 flags, to the right of Max - 8 flags. How many flags does 
Lila have? 



II.       Math Kangaroo Problems.
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END OF 
HOMEWORK!
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